A £ 0l &8 A G Ml A

S=)us S (29l @9)
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04 JI2tMI22 RS2+ 18,278 18,975 ABI7
OUIBIARD 2857} HIZRR oI2AH|(Z !
Ar2t) 43 18,278,000 18,278 18,975 2697
402 2IRHRHE0IH 1,548 2,772 A1,224
01 QIPX AL B ( XM THE) 1,548 2,772 N1,224
OHEt NDIAE S250t HEEY Sx|(258
70%) (T SHREOH A2t) d8 1,548,000& 1,548 2,772 A1,224
HEaEs (B R2uE/ Lo nE) 504,211 595,800 1,589
< 78,600 78,600 0
Al 515,611 517,200 A1,589
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SS4= HAEHZ XA 205,211 206,800 A1,589
301 LEEHZ 26,411 28,000 1,589
07 28I =AY 1,411 3,000 A1,589
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S22 28 995,748 936,488 59,260
| 116,560 0 116,560
= 4,500 4,500 0
Al 874,688 931,988 A57,300
sSN=E 28 167,600 217,600 50,000
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S N (SYHSL/ 5 - 5E)
CH9|: SSAE SRHE Jfg (SH9): &)
S - B BR(S) - NRAY - BES 04l b0t plEL HimE==T
307 21201 F 370,900 399,800 228,900
02 SIIBAAEE 370,900 399,800 28,900
OYZAl DEH DP0L0H TR KA (SEES
40%) (TBTH A1) 23 1,100,002 1,100 30,000 228,900
SABNASH(SYHYLN/5Y - 5E) 1,948,030 1,979,672 £31,642
2 33,915 33,915 0
= 306,820 306,820 0
Al 1,607,295 1,638,937 ~31,642
ENERN 1,948,030 1,979,672 £31,642
2 33,915 33,915 0
= 306,820 306,820 0
Al 1,607,295 1,638,937 £31,642
EmERGE 388,635 420,277 £31,642
308 XHXISHHISOI R 285,870 317,512 £31,642
08 RS HUHEEE 285,870 317,512 ~31,642
ORI OIS SAIS S4AE Pl X
(BazH A2 27 28,010,009 28,010 31,752 £3,742
ORIY LATA NA(FBTH A1)
A 257,860,002 257,860 285,760 £27,900
WRES(RSNAD) (SYHLL/5Y - 5&) 477,748 476,247 1,501
SHNE 477,748 476,247 1,501
BRI 477,748 476,247 1,501
80 Ure+3 |t 477,748 476,247 1,501
2 Al - CHIEx 2k 471,989 470,438 1,501
02020 & 471,939 470,438 1,501
—SAE RYTE A
1,500,600 * 14! 1,501 0 1,501






